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PART A — (2 x 12 = 24 marRS)

_ Answer TWO of the following in about 500 words each.
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1. Explam the origin and functions of World Trade Organisation.
2 w8 QUTESS SievLoLiL ngmg)m mmguw uesflEer @ﬂgg efleTEseyLb.
2. Explam as to what inventions are patentable and what are non patentable?
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3.  Define Trade Mark. Explain in detail the limitations to the rights obtamed on
the registration of Trade Marks.
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PART B — (2 x 7 = 14 marks)

Answer TWO of the followmg in about 300 words each.
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4. Moral rights of author.

%ﬂmmﬂ@ 5rrr'n.8&; 2_feoser ,
6. What are the remedies available for Infringement ef copy rights.
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6. What is Geographmal Indications? What are the procedure for Reglstratlon of
: Geographical Indication? '
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PART C — (5 x 4 = 20 marks)

~ Write short notes on FIVE of the following:

élshm(geuemmy_i)gu& 250G A GALLSH aTss.
(a) Infringement of patents
sruyflenw WBposer

(b) - Term of patent

sruflew sren

(¢) Deceptive similarity

" @bp paew
(d) Anton pillar order
ST 1Slevevit 2y ememT
() Bayer—Vs—Natco
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(ﬁ Passing off
Curells serento } 4
(8) Rights of Broadcasting organisations and of performers.
@flugliy Siewlyser wHpIb smaEsisalear 2 fawser
PART D — (2 x 6 = 12 marks) '

Answer TWO of the following by referring to relevant provisions of Law and decided

cases. Give cogent reasons.
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Varadhan is a scientist. He has invented a device which is useful to the atomic
power station. He wants to obtain the grant of patent. Advise Varadhan.
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Reena has a registered Trade mark “VETA” She gives her consent to Teena to
use “VETA”. Does it amount to assignment? '
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Ranjani is an Advocate. She took a Xerox copy of a Judgement from a reputed

| Journal without getting consent from the author of the Journal Explain

whether Ranjani has committed any infringement?
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